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| think students should learn more about Al technology. Many jobs will require using this
technology in the future. So students should learn how to use it effectively. | have two

5 guestions. How many people can the car hold? Does the car run on electricity?
No, | do not think so. First, it may cause an increase in the cost of school lunches. This is
because schools will have to prepare extra types of school lunches. Second, food waste may
6 increase. If students are not interested in lunches made only with vegetables, the food might
not be eaten.
(x ERRIEHETHLREENTT,)
HEHRIR=2Y
No. 1 1 No. 11 4 No. 21 3
No. 2 2 No. 12 4 No. 22 1
No. 3 3 No. 13 2 No. 23 1
No. 4 2 No. 14 3 No. 24 2
No. 5 3 No. 15 3 No. 25 1
F1 o grqu
B No. 6 3 w2 No. 16 1 w3 No. 26 4
No. 7 1 No. 17 3 No. 27 1
No. 8 3 No. 18 2 No. 28 3
No. 9 1 No. 19 1 No. 29 1
No. 10 2 No. 20 4 No. 30 4

NP EEABERREREH S



